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Text A1:
Exactly 2.5
cm row height

Text B1:

The cell will be
larger than
needed to render
the text.

Text A2:
Exactly 2.5
cm row height

Text B2:

Too much text

will exceed the
cell border. Too

much text will
exceed the cell
Text A3: TexdB3:
At least 2.5 The cell will be
cm row height | larger than

needed to render
the text.

Text A4:
At least 2.5
cm row height

Text B4:

The cell height
will be adjusted
to fit text that
exceeds the
given height. The
cell height will be
adjusted to fit
text that exceeds
the given height.

Text A5: Text B5:

Implicitly at The cell will be

least 2.5 cm | larger than

row height needed to render
the text.

Text AG: Text B6:

Implicitly at The cell height

least 2.5 cm | will be adjusted

row height to fit text that

exceeds the
given height. The
cell height will be
adjusted to fit
text that exceeds
the given height.




